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Length - metre (m)
Mass - kilogram (kg

Time - second (s

Electric current - ampere (A

)
)
Temperature - kelin (K)
)
)

Luminous intensity - candela {cd
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Sub-multiples:

milli {m) = 10-*

micro (p) = 10=

nano (n) = 10-= !

Multiples:
kilo (k) = 10%
mega (M) = 10s
giga (G) = 10s

T Ly .18

(@) 5 pm = 5 picometres =5 = 10-¥ m

(b) 15 ns = 15 nanoseconds = 15 = 1035 5
(c) B pm = & micrometres =6 = 10& m

(d) 5 fs = & femtoseconds = 5 = 1015 5
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mm0.01= 100 + mm 1= Divisions + Pitch = (LC)Least Count

Tt
Least Count (LC) = Pitch / No. of divisions = 1 mm / 100 = 0.01 mm
FhadE S+ Fl = Al
9+ 70x0.01 mm =
9+ 0.07 mm

.07 mm

A P (A S Metre Scale -1.4

Least Count = 0.01mm

..i:;_}:ﬁk;_ = 9mmy+ 0.5mm = 9.5 mm
N L A =70
LKA = T0% 0.01 mm = 0.07 mm

S = 95 mm+ 0.07 mm= 9.57 mm
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s Depth rod of Vernier Callipers

(Numerical Problems) = ths(5lsl

1day = 24 = 60 x 60 = 86,400 5 = B6.4 ks
ezt 1 b)

1 week = 7 x 86,400 = 604,800 s = 604.8 ks
{03002/ c)

30 = 86.400 = 2,592,000 5 = 2.592 Ms




A EScientific Notation™ /= lied 1.1 e 1.2
(3) 86,400 5 = 8.64 x 104 5

(b) 604,800 s = 6.048 = 10s 5

(c) 2,592,000 s =2592 = 108 s
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(a) 4x10-1kg + 3x10-skg
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So, Ix10skg = 0.3=10-4kg

Finally 4=10-4kg+ 0.3=x10skg = (4+0.3) =10-4kg

= (4.3 ) x10-akg

(b) 5.4x106m -- 3.2x10.5m
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S0, 54x10em = 0.54=10sm

Finally 0.54=10-s m - 32x10=m = (0.54 - 3.2) x10-=m

=-2.6 x10-sm

(_*Scientific Notation )</ _1.4
(a) (5x10am)=(3=x10-2m)
15=3x%5: 00 s

102=102x 104/ T 50

=15 (102) mz =1.5x 102 mz

(b) 6x10zkga/ 3x104ma

= 6/3%x1024 = 2% 104 kgm-2




W= S Scientific Notation™, 4/ % Figs 15

(3= 102kg)=(4.0xkm) [ 5=x10z2 52

=d4km = 4x103m

= (3x10zkg)=(4.0=x102m) = (3x4) (10z+2) =12 x10s
12105 7 5x10z =125 x 1052 = 24x102 kg ms-2

-Significant Figures 1.6

(a) 0.0045 m =2 significant digits

(b) 2.047 m =4 significant digits

(c) 3.40 m =3 significant digits

(d) 3.420 = 10 m =4 significant digits

:._.rf“TL.L"**En:ientiﬁn: Motation™ 1.7
() 00035 m =35 = 102 m
(b)206.4 = 10° m = 2.064 = 104 m
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S L prefine s e 1.8
(@) 5.0 = 107 cm = 0.5 km

(b) 580 = 10* g = 58 kg

(c)d5 = 107 s =45 = 107 s = 4.5 cs (centi seconds)

milliseconds = 45ms  _i~|

B Light Year™ _,_j =149
Wl

Speed of ight = 3.0=x10zm/s




Time = 1 year = 365=x24=60=x60=31,536,0005=3.1536=107s

Distance = v=t =(3.0=102)=(3.1536=107) = 9.4608=1015
Final Answer: 9.46 = 1015 m

:,_,:;:'“'&’;—ELff_lf**Mercuw** =110
L s

Density = 13.6 g/lcm?®

1 gfem® = 1000 kg/m?

=13.6x1000 = 13,600kg/m3
=1.36x104kg/m*

Final Answer = 1.36 = 104 kg/m?®




